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with

4,660

2,072

Cwithout

( ) 1,373

(Cwith  Cwithout 5,359

3,294

4,393

) 521

8,213
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B/C)

B with

C with

C without

€02
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with

50
4,659,887
1 3,151,166 3,926,178
2 157,558 207,336
3 400,000 526,373
2,072,439
1 2,081,440 780,685
2 1,388,318 725,712
3 1,082,864 566,043
| 6,732,326]

without

50
1,373,226
1 1,342,290 701,652
2 392,000 204,909
3 892,750 466,665
| 1,373,226|

50
1 2,603,055 3,293,695
4,392,662
1 0 0
2 6,227,026 4,392,662
3 0 0
521,153
1 396,034 521,153
5,607
1 10,726 5,607
0
| 8,213,117]

CBR:Cost Benefit Ratio)
without | 1.5|

(




